“Смотри не ошибись”
16 – 25х² = 0   
                        5х² = 3х


- 25х² = …..    
                        5х² …..= 0


х2 = ……    
                        х (…. – 3) = 0


х1 = …..                                     х = …. или
5х -…..=0

х2 = -4/5 …                                                            …= 3

х = …..



Ответ: х1 =…. , х2 =…. 
        Ответ: х =…., 
х =…..

“Лови ошибку”
16 – 25х² = 0    
                           5х² = 3х


25х² = -16  
                           5х² + 3х = 0


х2 = 16/25    
                           х(5х – 3) = 0


х1 = 4/5 
                                    х = 0 или
5х – 3 = 0



                                                     5х = - 3



                                                     х = 3/5

Ответ: х1 = 4/5, х2 = - 4/5.       Ответ: х = 3/5

